2.2 MLEEMHH

221 A%4HB(STM-607~1220)

SHINI

W Ficsfics fechnologie:

]

22

B
/]
18 19 20 21

©

N~ < ~
r~ ) \w
S

/
]

E:

RAFB 4 T3 F ML 2.2.2 AR tm R

A 2-2: #%us5HE(STM-607~1220)

18(101)



P,

2.2.2 ##+9 a0 & (STM-607~STM-1220)

& 2-1: ##9Am%& (STM-607/STM-607-D)

= 2 # It s
STM-607 STM-607-D

1 EHRIF A YE10200300000 YE 10220300000
2 TR BL40060700920 BL40691040720
3 LECE BL40060702520 BL40060740220
4 LS L BL40060701920 BL40060704020-
5 5 4 S A BL40060702120 BL40691041120
6 (227 BL40060701420- BL40691040120
7 EGO* YE21503000000 YE21503000000
8 AR - -

9 M BL40060703720 -

10 | &&* BM20005500250 BM20005500250
11 JRM BL40060740320 BL40060740120
12 | Wik YW03000200000 mggggggggggg
13 | Ao i@ BK40060700320 BK40060700320
14 | Aok £ BL40060702320 BL40060702320
15 W I E BL80091000120 BL80091000120
16 | B# BL42060703820 BL40691040220-
17 IKFo TR 2% - -

18 | sk YW50030800100 YW50030800100
19 o, 7% I+ YE32213100000 YE32213100000
20 FARE R - -

21 WA g de 5 YR40523000000 YR40523000000
22 | 4AdES BH12030801310 BH12030801310
23 | Y AERET YW57010200000 | YW57010200000
24 BATAL E AR - -

25 | AAudE* BH12060700210 BH12060700210
26 | AHAREE BL42691049420 BL42691049420
27 | AEAF BL49060730020 BL49060730020
28 | A £ YE14152400000 YE 14152400000
29 | &lh4a BL42060700321 BL42060700321
30 | FHREMR* BL40060703220 BL40060703220
31 R BL40060702620 BL40060702620
32 | &aduihg BH12030403040 BH12030403040
33 | #din BE90100000150 BE90100000150
34 | AxE BL49060710020 BL49060710020
35 | AARE - -

19(101)




P,

A% 24k S
STM-607 STM-607-D
36 W, A BH70060700050 BH70060700050
37 i FAR S AR - -
38 EGO ¥4 BL40005300220 BL40005300220
39 AR - -
40 EEMR - -
41 E & YW85001000100 YW85001000100
42 HeAL G+ R * YM60922500100 YM60922500100
43 AR YR01004000000 YR01004000000

R RERIRGIIR B M RTECT ARG B, AW,
HAETERMRFAZAT, LAAGLE BRAST, UAREEIDH5S 24—,

20(101)




P,

%k 2-2: A9 %&(STM-910/STM-910-D)

= 24 Ipta s
STM-910 STM-910-D
1 EuRIF A YE10210300000 YE 1025040000
2 TR BL40060700920 BL40691040720
3 LECE BL40060700920 BL40691040720
4 LS L BL40060702520 BL40060740220
5 35 4 S A BL40060701920 BL40060704020-
6 (227 BL40060702120 BL42091001320
7 EGO* YE21503000000 YE21503000000
8 EHER - BL42091001220
9 M BL42091000520 BL42091002020
10 | &&* BM20007500050 BM20007500050
11 JRM BL41091045820 BL40122040120
12 | Wik YW03000200000- mggggggggggg
13 | Ao dkAR BL40091000321 BL40091000321
14 | Aok £ BL42091000220 BL42091000220
15 W I E BL80091000120 BL80091000120
16 | B# BL42091002120 BL41091005620
17 IKFo TR 2% - -
18 | sk YW50030800100 YW50030800100
19 o, 7% I+ YE32213100000 YE32213100000
20 FARE R - -
21 WA g de 5 YR40523000000 YR40523000000
22 | 4AdES BH12131200010 BH12030801110
23 | Y AERET YW57010200000 | YW57010200000
24 | AT EM BL41091001321 BL41091001321
25 | AAndE* BH12060700210 BH12060700210
26 | AFAREE BL42691049420 BL42691049420
27 | AEAF BL49091000420 -BL49091000420
28 | B A £ YE14152400000 YE 14152400000
29 | &lh4a BL40091000521 BL40091000521
30 | FHREMR* BL42091000420 BL42091001620
31 R BL40060702620 BL40060702620
32 | &aduihg BH12030403040 BH12030403040
33 | #din BE90100000150 BE90100000150
34 | AxE BW88091000020 BW88091000020
35 | AARE - BL42091001220
36 oy, R+ BH70091000050 BH70091000050

21(101)




P,

A% 24k S
STM-910 STM-910-D
37 Ho AR AR BL42091002320 BL42091002320
38 EGO & ¥4 YR40000400300 YR40000400300
39 AR BL42091000520 BL42091002020
40 FER BL40060700520 BL41091005720
41 JE & YW85001000100 YW85001000100
42 HeA B+ R * YM60922500100 YM60922500100
43 £HR YR01004000000 YR01004000000

*RTTRBIRE R B P RTECT BRI A, SN
AT ERMKEAMZAT, AL BBAT, AARTRAIDHTE Eh—3.

22(101)




% 2-3: ##9A & (STM-1220)

P,
SHINI

V' plastics technologles

5 £ AR W# %5 5 £ # W# %5

1 R E YE10220300000 23 | Y AERIR* YW57010200000
2 T4 BL40122041120 24 BALAL E R -

3 W, 45 4R BL40122041020 25 AL BH12060700210
4 W, 252 AR BL40122041220 | 26 | A-#pAdik = -

5 W, 45 46 JE B BL40122041420 27 AR BL42012000020
6 fa AR BL40122040620 28 x> YE14152400000
7 EGO* YE21503000000 29 3 7 4A BL40122041620
8 AR - 30 FHREM* BL42091001620
9 A AMAR BL40122040220 31 FER BL40060702620
10 Fid* BM20015000050 32 48 A AL T BH12030403040
11 JEAR BL40122040720 33 o, 1% BE90100000150
12 e de YW03002500000 34 B BwW88122000020
13 | Ao i@ - 35 | AR -

14 AR AE & 2 - 36 g BH70122000050
15 W, R I E BL80091000120 37 VERLY e -

16 JE R BL40122040820 38 EGO 254 YR40000400300
17 KT TR 2% - 39 ZEAMAR BL40122040220-
18 Fou ] YW50030400000 40 L Em BL40122040520
19 EY A YE32213100000 41 EAk YW85001000100
20 FARE R - 42 HEA L+ R * YM60922500100
21 PR A 45 Je 5 YR40523000000 43 4R YR01004000000
22 CEECEINS BH12131200010

*ERTTRAARIRGY IR B, R T ARG R B, A,
HAETERMRFAZFT, LAAGE BIRAST, UAREEIDH 5SS 24—,

23(101)




SHINI

W Ficsfics fechnologie:

223 Z%utsHA(STM-2440)

s RAEE T T ERIL 2.2.4 HHEA A

B 2-3: A% E(STM-2440)

24(101)



2.2.4 Hr#HeA 4m & (STM-2440)

& 2-4: ## 98 m& (STM-2440)

P,
SHINI

V' plastics technologles

A% 24 witas | 4 24 BH BT
HEXT IS YE1025040000 | 36 | M4 x5 &4y YW62040500000
2 | nm BLA1244010220 | 37 | EGO %% YR40000400300
3 | k4 YWO00000000100 | 38 | M10 x 20 71 5 fi 847 YW61102000000
4 | eri BLA0244040920 | 39 | #1% ke YW03000300000
5 | RaR YMB0922500100 | 40 | M8 x 30 4= i # 2 YW60083000200
6 | MBx10 A#4r | YW62061000000 | 41 | D8 F# YW66081600000
7 | As YM60922500100 | 42 | 3% b YW03000300200
8 | wis BH49243000150 | 43 | 3 45/ YW50030800100
9 | mEir YE85005000000 | 44 | 1/4"PT  1/4"H A5 3 | BH12010400410
10 | i@ YR01004000000 | 45 | 3/4"%15 BH12030403040
TR YE14152400000 | 46 | 2 25/ YW50010400000
12 | wifei 3 47 | 1R T BH12010400110
13 | M8x 15 A~/ #%4T | YW60081600100 | 48 | i/ BH70244000050
14 | i BLA0244040720 | 49 | M10 x 25 7 = f 47 YW61102500000
15 | EHEZFER - 50 | wHEF BL80122000120
16 | Ak YW85001000100 | 51 | D6 F4 YW66061300000
17 | M3 x5 % 47 YW63030600000 | 52 | M6 %4 YW64000600300
18 | g aLa0244040620 | 53 (1(4,;? *VAH RREHEK | (1104010400400
19 | ABA YM60922500100 | 54 | 4ad % 2 BH12060702010

20 | A& YM60922500100 | 55 | D10 3k YW65010000000
21 | B# BL42244001020 | 56 (3(85; *3/8H RAEEK | (1104030800300
22 | 11/4 %0 YW50012500000 | 57 | wsid* YE32213100000
23 | M12 M2 YW68121000000 | 58 | Aw i BL42244000221
24 | b BH12060700210 | 59 | M8 x 25 7 = fi 47 YW6108250010
25 | 1/4H 4% YW04030800500 | 60 | D8 5¢# YW65008000100
2% | 48 BH12030801110 | 61 | fiha(%) BL42244001720
27 | YRR YW57010200000 | 62 | Rk = BW31015000010
28 | ki BL42244001620 | 63 | M8 %4 YW65008000100
20 | B EAitik BL42244000920 | 64 | %" BM20028000050
30 | B EM BL42244000920 | 65 | 3/8"PT x 3/8"H #5425 | BH12030800610
31 | M6 x 15422 | YW69061500000 | 66 | M6 x 15 & #247 YW63061500000
32 | EGO i1 YE21503000000 | 67 | EGO* YE21503000000
33 | At £ EM : 68 | 2 BL40244040220
34 | Fk A B 69 | a4 1 BH12030800010
35 | 2k BL42244000521 | 70 | Mi# (&) BL42244001720

25(101)




P,

Az 24 witas | 3 24 W
71 38" RART BH12030800110 74 M6 x 10 4> f 4844 YW60061000000
72 A BW88244030020 75 :S;ET*S/SHH RO YW04030800200
73 AR BL42244000121 76 & h A8 BL42244000421

*RRTRERIRGIR B, R TRT R R E, SN,
A TR AWM REMAZR, LA BERAT, UARKREWH TS ZHh—EK.

26(101)



SHINI

W Ficsfics fechnologie:

225 Z%utsH#A(STM-3650)

s RAEE T T ERIL 2.2.6 AR m A

B 2-4: Z%4EHE(STM-3650)

27(101)



2.2.6 ##EA m & (STM-3650)
% 2-5: #9884 & (STM-3650)

P,
SHINI

V' plastics technologles

A% P wtas | 24 BH BT
1 E U R A YE10010000000 | 36 | M4 x5 &k#24T YW62040500000
2 ES BL40365041320 | 37 | EGO %44 YR40000400300
3| KIBIH YW00000000100 | 38 | M10 x 20 ¥ 5 A #8247 YW61102000000
4 o, 4% R AR BL40365041420 | 39 | #|% &4 YW03000300000
5 | AgR YM60922500100 | 40 | M8 x 30 sh><f %4 YW60083000200
6 | M6 x10 & k#84T YW62061000000 | 41 | D8 F# YW66081600000
7 | RE YM60121200400 | 42 | Eshikse YW03000300200
8 b, 35 46 BH49365000250 | 43 | 3 » ki YW50030800100
9 | MBIk YE85005000000 | 44 14"PT X VAH RAE BH12010400410
10 | HBME@EMHK YRO01004000000 | 45 | 3/4"i:1g BH12030403040
11 | AR £ YE14152400000 | 46 | 2 5% YW50010400000
12 | wizF/EH BL42365001520 | 47 | 1/4"RXT BH12010400110
13 | M8 x 15 W>x A %41 | YW60081600100 | 48 | wi/gsm* BH70365000050
14 | T BL40365040620 | 49 | M10 x 25 ¥ 5 A #2847 YW61102500000
15 | EARZEM - 50 | a#hEFE BL80122000120
16 | EHk YW85001000100 | 51 | D6 F# YW66061300000
17 | M3 x5 mkiB4T YW63030600000 | 52 | M6 &4 YW64000600300
18 | #E BL40365040520 | 53 T/ 4'PTx1/4"H RRE & YW04010400400
k(LA
19 | RER YM60423000000 | 54 | 4A4E% 2 BH12060702010
20 | A YM60423000000 | 55 | D10 3¢k YW65010000000
21 | B BL40365040720 | 56 3/ 8'PT x3/8"H RAT & YW04030800300
k(LA
22 | 11/4 30 YW50012500000 | 57 | wagig* YE32213100000
23 | M12 b 43EL YW68121000000 | 58 | An#Ad BL42365000221-
24 | AfagEr BH12060700210 | 59 | M8 x 25 k5% A 4247 YW6108250010
25 | 1/4H 3% YW04030800500 | 60 | D8 YW65008000100
26 | 4% BH12030801110 | 61 | fux(%£) BL40365040220
27 | Y AEK R YW57010200000 | 62 | Zidx2 BW31015000010
28 | &M BL42365001720 | 63 | M8 #&#& YW64080600000
29 | Bl BRI BL42365000420- | 64 | &i4* YM20609100100
30 | BRAER BL42365000520- | 65 ZB"PT *3BH AT H BH12030800610
31 | M6 x 158 A Ex YW69061500000 | 66 | M6 x 15 &k #H4T YW63061500000
32 | EGO#4n YE21503000000 | 67 | EGO* YE21503000000
33 | AT REM - 68 | M BL40365040320
34 | FHRER - 69 | 44k BH12030800010
35 | #apr - 70 | MR (&) BL40365040120

28(101)




P,
SHINI

V plastics technologles

X3 P PP ’j. 24 P
71 38"RAT BH12030800110 74 M6 x 10 9}>< f ¥2 42 YW60061000000
72 il - 75 1/4"PT*3/8"H # A5 4 % YW04030800200

LA
73 R AR BL42365000121

R RARIR A A RTECTRARIF R, ISR,

29(101)




P,
SHINI

V' plastics technologles

227 %4
l_"‘.
. P
'@§§ﬁ?
_':i"r'f'
g : {'Fj Ii||
AR Y
7 8 9 10
B 2-5: Z4H
% 2-6: RiAEAmE
55| a# i)
STM-607/607D | STM-910/910D STM-1220 STM-2440 STM-3650
1 |[RAK
2 [OA&3R
3 [t
4 (ot
5 |RE
6 [>5AkERL
7 [FIR
8 WukkAh#* | YR80901000000 | YR80901200000 | YR80901600000|YR80902240000| YR80902240000
9 LR
10 |BALL X

*RATTRRRGG IR E ; R TR TRIMIRGAE, EEH.
HEAETERBRFAZFT, LAAGE BRAST, UAREEDHSS 24—,

30(101)




